“tau_first” One of cause of not good results of polarimeter
(before 94) -

T

FSR

In FSR events, the tau pair goes through the intermediate state "94"

look at all stable daughters of tau first

what I expected what really happened




ConeMCPiPol[0][0] { ConeM\CPlPoI[O][O]>ﬁ9999 }
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ConeRhoPoI[O][O] { ConeRhoPoI[O][0]>-9999 }

ConePiPol[0][0]: ConeMCPIPoI[O][O] { ConePiPol[0][0]>-9999 }

ConeRhoPol[0][0]:ConeMCRhoPol[0][0] { ConeRhoPol[0][0]>-9999 }
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Something’s wrong with polarimeter... MC m._ > 240 GeV

T — nv, pv only
Will try with 1deal sample: no FSR/ISR/beamstrahlung

try the same event in python, and compare results



